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Base: 1,029 Total Gender x Age SEG Country of birth 2014 Independence 2016 EU Referendum
referendum
Male x | Malex | Malex |Female | Female | Female | ABC1 C2DE |Scotland | England | Other | Ivoted | Ivoted |Ididnot [ The UK | The UK | Did not
16-34 35-54 55+ X 16-34 | x 35-54 | x 55+ Yes No vote should | should vote
remain leave

Total 1008 152 169 172 154 178 203 469 560 854 93 82 436 540 53 591 364 74
(1029) (87 (165 (197)] (190)| (183)] (207)| (615)| (414)[ (807)| (152) @)  @54)| (522) (53)]  (603)|  (354) (72)
Who do you currently intend to  [Base: Likely voters 898 135 154 162 107 154 185 424 474 755 79 64 393 481 24 547 323 28
vote for? (Likely voters) (902) @ @s2)|  @sn|  @3s)|  (159)| (192)| (554)| (348)| (714)| (134) (54)|  (409)|  (468) (25)| (s55)| (318) (29)
Conservative 262 22 45 57 15 42 81 142 121 210 33 19 24 230 ) 105 151 6
29% 16% 29% 35% 14% 27% 44%; 33% 25% 28% 41% 30% 6% 48% 38% 19% 47% 22%
Labour 106 13 20 26 17 15 17 47 60 96 8 2 29 74 3 75 27 4
12% 9% 13% 16% 16% 9% 9% 11% 13% 13% 11% 2% 7% 15% 14%] 14% 8% 16%
Liberal Democrat 38 1 5 16 4 4 8 25 13 34 4 0 4 34 0 28 10 1
4% <1% 3% 10% 4% 3% 4% 6% 3% 4% 6% 0 1% 7% 0 5% 3% 3%
SNP 355 70 67 53 58 66 40 147 207 309 21 25 288 57 9 264 79 12
39% 52% 44% 33% 54% 43% 22% 35% 44% 41% 6% 39% 73% 12% 38% 48% 25% 41%
UKIP 12 3 4 2 2 0 2 1 11 8 2 2 7 5 0 0 12 0
1% 2% 2% 1% 2% <1% 1% <1% 2% 1% 3% 3% 2% 1% 2% 0 4% 0
Green 17 8 2 2 0 1 4 12 5 14 2 1 6 10 0 14 2 0
2% 6% 1% <1% <1% <1% 2% 3% <1% 2% 2% 2% 2% 2% 1% 3% <1% <1%
Other 6 4 0 2 0 0 0 3 3 6 0 0 1 5 0 4 1 1
<1% 3% 0 <1% 0 0 0 <1% <1% <1% 0 0 <1% 1% 0 <1% <1% 4%
Don’t Know/ Not sure 97 15 12 4 10 24 31 46 51 75 9 12 31 64 1 57 39 1
11% 11% 7% 3% 10% 16% 17%] 11% 11% 10% 12% 19% 8% 13% 4% 10% 12% 2%
Prefer not to say 4 0 0 0 1 3 1 2 3 2 0 2 2 1 1 1 1 3
<1% 0 0 0 <1% 2% <1%! <1% <1% <1% 0 4% <1% <1% 3% <1% <1% 10%
Who do you currently intend to  |Base: Likely voters, excluding DK 797 120 143 158 96 128 153 377 420 678 70 49 359 415 23 489 284 24
vote for? (Likely voters, excl DK) (798) (69) (142) (179)|  (119) (129) (160) (491) (307) (642) (117) (39) (374) (402) (22) (494) (279) (25)
Conservative 262 22 45 57 15 42 81 142 121 210 33 19 24 230 9 105 151 6
33% 18% 32% 36% 16% 33% 53% 38% 29% 31% 47% 40%! 7% 55% 41% 21% 53% 25%
Labour 106 13 20 26 17 15 17 47 60 96 8 2 29 74 3 75 27 4
13% 10% 14% 17% 17% 11% 11% 12% 14% 14% 12% 3% 8% 18% 15%: 15% 10% 18%:
Liberal Democrat 38 1 5 16 4 4 8 25 13 34 4 0 4 34 0 28 10 1
5% <1% 3% 10% 4% 3% 5% 7% 3% 5% 6% 0 1% 8% 0 6% 3% 4%
SNP 355 70 67 53 58 66 40 147 207 309 21 25 288 57 9 264 79 12
44% 58% A47% 34% 60% 52% 26% 39% 49% 46% 30% 51% 80% 14% 41%: 54% 28% 48%
UKIP 12 3 4 2 2 0 2 1 11 8 2 2 7 5 0 0 12 0
2% 2% 3% 1% 2% <1% 1% <1% 3% 1% 3% 4% 2% 1% 2% 0 4% 0
Green 17 8 2 2 0 1 4 12 5 14 2 1 6 10 0 14 2 0
2% 6% 1% 1% <1% <1% 3% 3% 1% 2% 2% 2% 2% 2% 2% 3% <1% <1%
Other 6 4 0 2 0 0 0 3 3 6 0 0 il 5 0 4 il il
<1% 4% 0 1% 0 0 0 <1% <1% <1% 0 0 <1% 1% 0 <1% <1% 5%
And how would you vote in Base: Likely voters 939 144 159 162 124 163 187 444 495 77 86 75 408 504 27 563 331 45
response to the question: (943) ®3)| @s7)| (@8n| @s5)|  (168)| (193)| (578)| (365)| (735)|  (143) 65)| (426)]  (490) @n| (575)| (325) (43)
Should Scotland be an Yes 402 95 74 54 70 68 41 160 242 340 24 38 345 44 13| 281 95 27
ngg”dem country? (Likely a3n| ee%|  aew|  33w| 57| a2%|  226|  36%|  do%|  adse|  28%|  51%|  85% 9| 48| som|  20%|  60%
No 487 40 76 103 40 89 139 258 228 396 59 31 42 431 14 250 222 14
52% 28% 48% 63% 32% 55% 74% 58% 46% 51% 68% 42%) 10% 86% 51% 44% 67% 32%
Don'’t know 50 9 C 5 13 6 8 25 25 41 3 6 21 29 0 32 14 4
5% 6% 6% 3% 11% 4% 4% 6% 5% 5% 4% 8% 5% 6% 1% 6% 4% 8%
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Base: 1,029 Total 2015 UK Parliamentary Election 2016 Scottish Parliamentary Consituency Vote
Conserv | Labour | Liberal SNP UKIP Green Plaid Other | Didnot | Can't Iwas [ Conserv| Labour | Liberal SNP Greens | Other | Didnot | Can't Not
ative Democra Party Cymru vote | rememb not ative Democra vote | rememb | eligible
t er eligible t er to vote
Total 1008 179 195 47 435 24 19 0 5 75 33 17 188 193 67 398 0 9 95 67 12
(1029)] (181)  (207) @n| (424 (23) (29) (0) (5) (69) (30) (14)| (8y| (221 (60)| (362 (0) (31) (96) (64) (14)
Who do you currently intend to  [Base: Likely voters 898 176 176 45 405 23 17 0 4 26 17 9 184 182 61 370 0 8 35 49 8|
vote for? (Likely voters) 902)| @7y  (@189) @5)| (392 (22) (26) 0) (4) (22) (18) @ are)| (209 (55)| (337) (0) (28) (38) (48) (11)
Conservative 262 157 42 14 24 ] 1 0 1 7 4 3 155 44 15 25 0 1 8 13 0
29% 89% 24% 32% 6% 42% 4% 0 21% 27% 24% 30% 84% 24% 25% 7% 0 18% 23% 27% 4%
Labour 106 2 80 2 18 2 0 0 0 1 1 1 7 75 3 11 0 1 3 6 0
12%] 1% 46% 4% 4% 7% 0 0 0 3% 6% 8% 4% 41% 5% 3% 0 7% 10% 12% 0
Liberal Democrat 38 6 7 21 3 0 0 0 0 0 1 0 2 10 22 3 0 0 0 1 1
4% 3% 4% 47% <1% 0 0 0 0 0 6% 0 <1% 6% 36% <1% 0 0 0 2% 11%)
SNP 355 2 13 8 317 1 1 0 0 7 2 4 9 29 7 285 0 2 13 6 4
39% 1% 8% 17% 78% 6% 6% 0 0 26% 9% 48% 5% 16% 11% 77% 0 19% 38% 13% 44%
UKIP 12 0 0 0 4 8 0 0 0 0 0 0 4 1 0 6 0 0 0 1 0
1% 0 0 0 1% 37% 0 0 0 0 0 0 2% <1% 0 2% 0 3% 0 2% 4%
Green 17 0 0 0 7 0 10 0 0 0 0 0 2 2 0 9 0 1 2 0 0
2% 0 0 0 2% 0 58% 0 0 0 0 0 <1% 1% 0 2% 0 14% 7% 0 4%
Other 6 0 1 0 0 0 2 0 0 3 0 0 0 1 2 0 0 0 3 0 0
<1% 0 <1% 0 0 0 9% 0 0 12% 0 0 0 <1% 4% 0 0 0 9% 0 0
Don’t Know/ Not sure 97 9 32 0 30 2 4 0 3 8 9 0 6 19 12 32 0 3 5 20 1
11%] 5% 18% 0 8% 8% 23% 0 67% 29% 55% 0 3% 10% 19% 9% 0 33% 14% 41% 9%
Prefer not to say 4 1 0 0 1 0 0 0 1 1 0 1 0 0 0 0 0 1 0 2 2
<1% <1% 0 0 <1% 0 0 0 13% 3% 0 14% 0 0 0 0 0 7% 0 4% 23%
'Who do you currently intend to  [Base: Likely voters, excluding DK 797 167 145 45 373 21 13 0 1 18 7 8 178 163 49 338 0 5 30 27 6
vote for? (Likely voters, excl DK) (798) (167) (157) (45) (362) (20) (17) (0) 1) (15) (8) (6) (170) (186) (46) (310) (0) (17) (33) (28) (8)
Conservative 262 157 42 14 24 9 1 0 1 7 4 3 155 44 15 25 0 1 8 13 0
33% 94% 29% 32% 6% 46% 5% 0 100% 40% 53% 5% 87% 27% 1% 7% 0 29% 26% 48% 7%)
Labour 106 2 80 2 18 2 0 0 0 1 1 1 7 75 3 11 0 1 3 6 0|
13%: 1% 55% 4% 5% 8% 0 0 0 4% 14% 10% 4% 46% 6% 3% 0 12% 11% 22% 0|
Liberal Democrat 38 6 7 21 3 0 0 0 0 0 1 0 2 10 22 3 0 0 0 1 1
5% 4% 5% 47% <1% 0 0 0 0 0 12% 0 <1% 6% 44% <1% 0 0 0 3% 16%)
SNP 355 2 13 8 317 1 1 0 0 7 2 4 9 29 7 285 0 2 13 6 4
44% 1% 9% 17% 85% 6% 7% 0 0 38% 20% 55% 5% 18% 14% 84% 0 32% 44% 23% 65%
UKIP 12! 0 0 0 4 8 0 0 0 0 0 0 4 1 0 6 0 0 0 1 0|
2% 0 0 0 1% 40% 0 0 0 0 0 0 2% <1% 0 2% 0 5% 0 4% 7%
Green 17 0 0 0 7 0 10 0 0 0 0 0 2 2 0 9 0 1 2 0 0|
2% 0 0 0 2% 0 75% 0 0 0 0 0 <1% 1% 0 3% 0 22% 8% 0 6%
Other 6 0 1 0 0 0 2 0 0 3 0 0 0 1 2 0 0 0 3 0 0|
<1% 0 <1% 0 0 0 12% 0 0 18% 0 0 0 <1% 4% 0 0 0 11% 0 0
And how would you vote in Base: Likely voters 939 176 183 46 412 24 16 0 4 40 23 15 185 184 62 380 0 9 53 58 8
response to the question: (943)| @78)| (195) 46)| (402 (23) (25) 0) (@) (35) (22) @) @ (21 (56)|  (348) (0) (30) (55) (55) (11)
Should Scotiand be an Yes 402 6 34 10 316 3 7 0 3 13 2 10 14 46 13 291 0 3 24 5 6
i/r:g:f:)"dem country? (Likely 43% 3%| 1| 2o%| 77| 14%|  a2% o eow| 32% 8%|  63% 6| 25%| 21| 76% o aom| 45w o%|  67%
No 487 170 132 32 76 20 9 0 2 23 20 4 169 125 43 67 0 5 24 52 3
52% 96% 72% 70% 18% 86% 53% 0 40% 57% 85% 24% 91% 68% 69% 18% 0 52% 45% 89% 33%
Don't know 50! 1 17 4 20 0 1 0 0 4 2 2 2 14 6 22 0 1 5 1 0
5% <1% 9% 8% 5% 0 5% 0 0 11% 7% 13% <1% 8% 9% 6% 0 9% 9% 2% 0
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Base: 1,029 Total Gender x Age SEG Country of birth 2014 Independence 2016 EU Referendum
referendum
Male x | Malex | Malex |Female | Female | Female | ABC1 C2DE |Scotland | England | Other | Ivoted | Ivoted |Ididnot [ The UK | The UK | Did not
16-34 35-54 55+ X 16-34 | x35-54 | x 55+ Yes No vote should | should vote
remain leave

Total 1008 152 169 172 154 178 203 469 560 854 93 82 436 540 53 591 364 74
(1029) (87)) (165 (197)| (190)] (183)] (207)] (615)| (414)| (807)] (152 (70)|  (454) (522 (53)|  (603)] (354) (72)
And how would you vote in Base: Likely voters, excluding DK 889 135 149 157 111 157 179 418 471 736 83 70 387 475 27 531 317 41
response to the question: (891) (79)| (148)] (178)] (140)| (161)] (185)| (546)| (345)| (695)  (136) (60)| (402)| (463) (26)] (543)| (309) (39)
Should Scotland be an Yes 202 95 74 54 70 68 PE 160 242 340 24 38 345 24 13 281 95 27
:,"Oﬁfsevr'e'jx?[;}f;mm (Likely asw| 7aw| a9w|  saw| eaw|  a3%|  23%| 38|  51%|  46%|  29%|  55%|  89% 9| 49| saw|  30%| 5%
No 487 40 76 103 40 89 139 258 228 396 59 31 42 431 14 250 222 14
55% 29% 51% 66% 36% 57% 77% 62% 49% 54% 71% 45% 11% 91% 51% A47% 70% 35%
Q11. When do you think another [Base: All respondents 1029 152 169 172 154 178 203 469 560 854 93 82 436 540 53 591 364 74
Scottish independence (1029) 87| @e5)| (197)| (190)| (183)| (207)| (615)| (414)| (807)| (152) (70)|  (454)| (522) (53)| (603)|  (354) (72)
referendum should be held?  [joire ext year or two, while the UK is negotiating to leave the EU 329 76 59 39 61 63 31 129 200 279 18 32 261 52 16 226 74 28
32% 50% 35% 22% 40% 35% 15% 28% 36% 33% 20% 39% 60% 10% 30% 38% 20% 38%
About two years from now, when the UK has finished negotiating 170 28 32 28 37 19 26 76 93 143 15 12 110 52 8 107 49 14
to leave the EU 16% 18% 19% 16% 24% 11% 13% 16% 17% 17% 16% 14% 25% 10% 16%] 18% 14% 19%
There should not be another Scottish independence referendum in 531 49 78 105 56 96 146 264 267 432 59 39 65 437 29 258 241 32!
the next few years 52% 32% 46% 61% 36% 54% 72% 56% 48% 51% 64% A47%)| 15% 81% 54% 44% 66% 43%
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Base: 1,029 Total 2015 UK Parliamentary Election 2016 Scottish Parliamentary Consituency Vote
Conserv | Labour | Liberal SNP UKIP Green Plaid Other | Didnot | Can't Iwas [ Conserv| Labour | Liberal SNP Greens | Other | Didnot | Can't Not
ative Democra Party Cymru vote | rememb not ative Democra vote | rememb | eligible
t er eligible t er to vote

Total 1008 179 195 47 435 24 19 0 5 75 33 17 188 193 67 398 0 9 95 67 12
(1029) (181) (207) 47 (424) (23) (29) (0) (5) (69) (30) (14) (181) (221) (60) (362) (0) (31) (96) (64) (14)
And how would you vote in Base: Likely voters, excluding DK 889 176 166 42 392 24 15 0 4 35 21 13 183 170 56 358 0 8 48 57 8
response to the question: (891)| (@76) (77) (42)| (384 (23) (22) (0) (4) (32) (20) 1|  @7a)| (194 (52)| (330 (0) 27 (50) (53) (11)
Should Scotland be an Yes 202 6 34 10 316 3 7 0 3 13 2 10 14 16 13 201 0 3 24 5 6|
:‘i:f:”;i?‘;;;mw' (Likely 45% 3%| 21| 2a%|  s1w| 14%|  a4% o| eow| 36w 8%|  72% 8| 2w 23m| 8% o asw| sow 9%|  67%
No 487 170 132 32 76 20 9 0 2 23 20 4 169 125 43 67 0 5 24 52 3
55% 97% 79% 76% 19% 86% 56% 0 40% 64% 92% 28% 92% 73% 77% 19% 0 57% 50% 91% 33%)
Q11. When do you think another |Base: All respondents 1029 179 195 a7 435 24 19 0 5 75 33 17 188 193 67 398 0 9 95 67 12|
Scottish independence (1029)] @81 (207) @n| (@24 (23) (29) 0) 5) (69) (30) @14)| @sy| (221) (60)|  (362) (0) (31) (96) (64) (14)
referendum should be held?  [jyire ext vear or two, while the UK is negotiating to leave the EU 329 7 34 6 239 1 6 0 3 18 7 8 14 20 11 218 0 2 30 6 8|
32% 4% 18% 14% 55% 6% 30% 0 50% 24% 21% 48% 8% 21% 16% 55% 0 26% 31% 9% 67%
About two years from now, when the UK has finished negotiating 170 9 25 4 104 2 3 0 1 16 3 4 10 20 9 103 0 2 16 8 2
to leave the EU 16%] 5% 13% 8% 24% 8% 19% 0 11% 21% 8% 22% 5% 10% 14% 26% 0 20% 17% 11% 17%)
There should not be another Scottish independence referendum in 531 163 135 37 93 20 10 0 2 41 24 5 164 133 47 77 0 5 48 54 2
the next few years 52% 91% 69% 79% 21% 86% 51% 0 40% 55% 71% 30% 87% 69% 70% 19% 0 54% 51% 80% 17%)
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